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35 | LYY I—avk—IL 1% 2,900 12,422 4,100 1200
36 | ws 2,500 10,869 3,500 1000
37 | i 900 2,329] 1,300 400
38 | E1ME Tk 1,100] 3,105| 1,500 400
39 | e < L 1,000 2717 1,400 400
Y e %81 650 2795|900 250
41 | B1EE Fi& 850 3727] 1,200 350




AHREH

(A,]_ LB] [c] ”(D]
No|  FEEE PR 5 MmEs | S| 2B | SRR | AEE
42 | ! 750 3,261] 1,100 350
43 | 4Rl 400 1,863 550 150
44 | E2HEE T4 600 2,484 800 200
45 ®RH 500 2,174 700 200
46 | /i 2,400 10,714] 3,400 1000
47 | LoUT—avk—L(&E1R—) | F 3,200 14,285 4,500 1300
48 | & E 2,900 12,499 4,100 1200
49 | 4Rl 2,100 8,385 2,900 800
50 | LoyT—avk—(Eer—) | FiE 2,700 11,180 3,800 1100
51 | ! 2,400 9,782| 3,400 1000
52 | /i 1,600 5,124] 2,200 600
53 | F1HNE Tk 2,000 6,832 2,800 800
54 | &’ 1,800] 5978] 2,500 700
95 | 1 700| 2,795 1,000 300
56 | ET g2 2 — [ 2F1= F1% 900 3,727 1,300 400
57 | ! 800 3,261 1,100 300
58 | /i 1,200 5,124] 1,700 500
59 | E1FERE Fi& 1,600] 6,832 2,200 600
60 | &’ 1,400 5978 2,000 600
61 | 481l 1,700  6,056] 2,400 700
62 | BEREE 1% 2,200 8074] 3,100 900
63 | ! 1,900] 7.065| 2,700 800
64 | i 600 1,863 800 200
65 | FREREE Fi& 800] 2,484 1,100 300
66 &R 700 2,174] 1,000 300
67 | 1] 1,900 8,851 2,700 800
68 | Lo IT—avk—IL £i% 2,500 11,801 3,500 1000
69 | & E 2,200 10,326 3,100 900
70 | 4Rl 400 1,863 550 150
71 [EL R 2—|E1HE Fi 600| 2484 800 200
72 | il 500 2,174 700 200
73 | Ll 800 3,727| 1,100 300
74 | E1FEE F#& 1,050 4969 1,500 450
75 & E 950 4,348] 1,300 350
76 | Ul 950 4,192 1,300 350
77 | FZEA % 1,200] 5590| 1,700 500
78 | ! 1,100] 4.891] 1,500 400
79 | Ll 950 5590 1,300 350
80 | X & Ottt —[FEA Tk 1,200 7,453] 1,700 500
81 | " 1,100 6521 1,500 400
82 | 481l 950 4,192] 1,300 350
83 | #=8B 1% 1,200 5590 1,700 500
84 ! 1,100 4,891] 1,500 400




AHREH

(a1 | (81 | [c] | (0]
No|  MEEEE g 43 MmEs | S| 2B | SRR | AEE
85 | R 2.100] 9316] 2900 800
86 Lo)z—avk—IiL Fig 2,800| 12422| 3,900 1100
87| R 2,500 10,869] 3,500 1000
88 | Rl 500, 1,863 700 200
89 | EREIES ik 700] 2.484| 1,000 300
90 | & 600 2,174 800 200
91 R 300 932 400 100
02 |renmsness—mmn—n) | 55 2502 ik 400 1,242 550 150
93 ] " 350 1,087] 500 150
94 | F Rl 1,200 5590 1,700 500
95 | B1EE Fi& 1,600] 7453 2,200 600
96 & E 1,400 6521 2,000 600
97| a1 500 1,397 700 200
08 | BEMEE ik 700] 1,863 1,000 300
99 R 600 1,630 800 200
100 8T 2,100] 83851] 2,900 800
[101] LoyI—savh—L (@A=L | Gk 2,700 11,801] 3,800 1100
[102] R 2,400 10326] 3,400 1000
[103] 87 2,100/ 8385 2,900 800
104} LyYT—avk—L(E2k—L) | ik 2,700 11,180] 3,800 1100
[105| R 2,400 9,782] 3,400 1000
[106| 8T 1000 37271 1,400 400
[107| 28 amE e 2—|E 15 0% ik 1400 4969 2,000 600
[108| R 1200 4348 1,700 500
[109) F R 950| 5,124] 1,300 350
110 FZEA 1% 1,200 6,832 1,700 500
[111] 7R e 1,100 5978] 1,500 400
[112] Fa1 900| 4,658] 1,300 400
[113] HEA ik 1,100 6211 1,500 400
[114] R 1000] 5435 1,400 400
115 il 2,400 10,714| 3,400 1000
116 LYYT—avh—IL Fik 3,200] 14,285] 4,500 1300
[117] & 2,900] 12.499] 4,100 1200
18| a1 650 1,863 900 250
[119] EIE T 850 2484 1200 350
120| . . i 750]  2,174] 1,100 350
i ki 81 950 4.192] 1,300 350
[122] F1RE ik 1300 5590] 1,800 500
[123] R 1,700 4891 1,500 400
124} A goo| 3727] 1,300 400
[125] E2HE Fik 1,100[ 4,969 1,500 400
126 &R M 1,000] 4,348 1,400 400
127} i [ 950| 4658 1,300 350




AHREH

(A1 | [8] | [c1 | (o]
No| R PR 5> MmEs | S| 2B | SRR | AEE
128 FZEA ik 1,200 6,211 1,700 500
[129] R 1,700 5435 1,500 400
130} A 400 2,329 550 150
[131] =. ik 600 3.105] 800 200
132, o &R 500 2,717 700 200
IE2 iekinde F 950| 8385 1,300 350
[134] HEA 1% 1200 11,180 1,700 500
135 R 1,700 9,782 1,500 400
136 A 400 1863 550 150
[137] ¥ EB Fi% 600| 2,484 800 200
138 &S 500 2,174 700 200
139 FaT 2.400] 10,248 3,400 1000
[120] LoyT—savh—L E1R—L) | ik 3,100 13,664] 4,300 1200
[121] R 2,900 11,956] 4,100 1200
[122] i 2,400 10,248 3,400 1000
[123] LoYT—avk— (Eak—L) | ik 3,100 13.664] 4,300 1200
[124] & 2,900 11,956] 4,100 1200
125 Fa1 1300 47192 1,800 500
146 E1HE 1% 1,700 5590| 2,400 700
[147] FAHR g 5 — i) 1,500 4,891 2,100 600
28| FHaz2=7 o) R 400 932 550 150
[129] EoHE Fi% 6oo| 1,242 800 200
[150| 7R e 500[ 1,087 700 200
[151] a7 1,300 5590 1,800 500
152] E1EE 1% 1,700  7,453] 2,400 700
[153] R 1500 6521 2,100 600
[154] 3 goo| 3261] 1,100 300
155 ERBEE 1% 1050 4348] 1,500 450
[156| R 950 3.804] 1,300 350
157 1] 1,000 4,658 1,400 400
158 LYUT—avk—IL (B 1hR—L) Fi% 1,400 6,211] 2,000 600
159 R 1200 5435 1,700 500
[160| FaT 1,700 5,124 1,500 400
[161] LoyT—savk— (Eak—) | ik 1500 6832 2,100 600
[162| R 1,300 5978] 1,800 500
163 A 1,200 4,192 1,700 500
E F1ME F% 1,600] 5590 2,200 600
165 . ot 1400 4891 2,000 600
eg| T & Rz A 750]  2,795] 1,100 350
[167] EVEES Fig 1000 37271 1,400 400
168| R 9o0] 3261] 1,300 400
169 5 300 932 400 100
170 EIFE Fi% 400 1,242 550 150




AHREH

(a1 | (81 | [c] | (0]
No|  PEER% O MmEs | S| 2B | SRR | AEE
171 s 350 1,087 500 150
[172] AT 500 2,329 700 200
[173] TEEER 1% 700] 3,105] 1,000 300
[174] R 600 2,717 800 200
175 FH 2,300 10,248] 3,200 900
176 L&YT—Savh—ILA Fi% 3000 13.664] 4,200 1200
[177] &S 2,800 11,956] 3,900 1100
78| R 1200 4192 1,700 500
[179] EIE ik 1,600 5590] 2,200 600
180 . = 1,400] 4,891 2,000 600
e[ R i S i 1200 5590 1,700 500
[182] E1EE ik 1600  7.453] 2200 600
[183] R 1,400 6521 2,000 600
184} A 1,300 4,658] 1,800 500
185 BEREE 1% 1,700 6211] 2,400 700
136 7R e 1500 5435] 2,100 600
187 8T 1800 8385 2,500 700
[13s| LoUT—Savh—BE1R—L)| ik 2,300 11,180] 3,200 900
189|548 thsst 2> 5 — =M 2,000 9,782 2,800 800
[190| (O—%RF=—IL) il 1,200 5590 1,700 500
[191] LoYI—tavk—uB(&@E2h—L) | 1,600 7.453[ 2200 600
[192] ot 1400 6521 2,000 600
193 1] 400 1,397 550 150
[194] FEA Fi% 6oo| 1,863 800 200
195 ] 500] 1,630 700 200
[196| 5 goo] 4658 1,300 400
1975t s 22— [ 2=A Fig 1,700 6211 1,500 400
[198| &S 1000 5435 1,400 400
[199] a7 400[ 2,329 550 150
200} ¥%EB Fi% 600| 3,105 800 200
[201] R 500 2,717 700 200
202 87 2200 10,714] 3,100 900
[203] LoYT—Savh—IL Fig 2,900 14.285] 4,100 1200
[204] &S 2,500 12,499] 3,500 1000
205 R 1000 3261 1,400 400
206 EREES 1% 1,400 4,348] 2,000 600
207| s s thtst 22— =M 1,200 3,804| 1,700 500
[208| (FHiEEAR—IL) 8T 550 2,329 750 200
209 EVEES 1% 750 3,105] 1,100 350
210} R 650| 2,717 900 250
[211] A 650| 3,727 900 250
212] P ik 50| 4,969] 1,200 350
213] D 750  4,348] 1,100 350




AHREH

(A1 | [8] | [c1 | (o]
No|  PEER% O MmEs | S| 2B | SRR | AEE
214 FH1 950 4,192[ 1,300 350
215 FEA 1% 1200 5590 1,700 500
216 R 1,100 4891 1,500 400
217 FH1 400[ 2,795 550 150
218 =B ik 600|] 3727] 800 200
219, - . &’ 500 3,261 700 200
oo P 22— = 400] 1863 550 150
[221] HEA Fi% 650| 2,484 900 250
[222] &S 550| 2,174 750 200
[223] i 300] 1,397 400 100
[224] ¥ EB 1% 500[ 1,863 700 200
225 &S 400[ 1,630 550 150
226 a1 1000 4658 1,400 400
[227] LoYT—avhk—L (@Eik—n) [ ik 1400 6211 2,000 600
228 R 1200 5435] 1,700 500
229 3 1,300 5590 1,800 500
230 LoYT—savk— (Eak—) | ik 1,700  7.453] 2,400 700
231 R 1500 6521 27100 600
[232] R 750 2,329] 1,100 350
233 EARES Fik 1000 3,105 1,400 400
ﬂ RIS st 2 — (ATBR—L) B 300 2,717 1,300 400
235 -i] 300 1,397 400 100
236 EFY kS 1% 400 1,863 550 150
237 R 350 1,630 500 150
233] A 700] 3261] 1,000 300
239 E1EE Fi% 900 4,348] 1,300 400
20| R goo| 35804[ 1,100 300
[241] Fa1 500 2,329 700 200
242} EREEE Fik 700|  3,105] 1,000 300
243 & 600| 2717 800 200
244 il 1,500] 7,453 2,100 600
245 LoyT—savk—L (Eih—) | Tk 2000 9,937 2800 800
226 &S 1,800 8695 2500 700
247 a1 1500 7453 2100 600
248 LoUT—savhk— (E2k—n) | ik 2000 9,937 23800 800
29| R 1,800 8695 2,500 700
250 87 1200 4192] 1,700 500
251 E1ME Fik 1600] 5590 2,200 600
252, . n 1400 4891 2,000 600
o | B 25— 28 a00| 1397 550 150
[254] FofM=E 1% 600] 15863 800 200
255 R 500 1,630 700 200
256 R 600 3,261 800 200




AHREH

(a1 | (81 | [c] | (0]
No|  FEERA HEARE 53 MmEs | S| 2B | SRR | AEE
257 FT1EE & 800| 4,348] 1,100 300
258 R 700[ 3.804] 1,000 300
259 A goo| 3727 1,100 300
260 ERBEE Fig 1,050] 4969 1,500 450
[261] R 950 4,348] 1,300 350
262 -i] 1,900 6,987 2,700 800
263 LoyT—savh—L (E1h—L) | ik 2500 9.316] 3,500 1000
264] R 2200 8152] 3,100 900
265 A 2,100 8385] 2,900 800
266 LoyT—savk— (Eak—) | Gk 2,700 11,180] 3,800 1100
267 R 2400 9782] 3400 1000
268 FaT 550 1,397 750 200
269| EIRE Fik 750] 1,863 1,100 350
270 - . &HE 650] 1,630 900 250
|| RS E3 950]  3.727] 1,300 350
272 F1HE ik 1,300 4969 1,800 500
273] 7R el 1,700 4348] 1,500 400
[274] Fa1 goo| 3727] 1,300 400
275 F2E ik 1,100] 4969 1,500 400
276 R 1000 4348] 1,400 400
277 i 900] 3261] 1,300 400
27¢| HEIHE ik 1,100  4348] 1,500 400
279 7R e 1000 3804 1,400 400
280 a7 950 4,192[ 1,300 350
[281] FZEA 1% 1,200 5590] 1,700 500
282 R 1,100 4891 1,500 400
283 81 950  7.919] 1,300 350
204|110 thigi 2 52— [ =A ik 1,200 10,559 1,700 500
285 R 1,700 9,239] 1,500 400
236 BT 400] 3,261 550 150
[287] ¥ EB 1% 600| 4,348 800 200
238 R 500 3,804 700 200
289 a1 2000 8385 2800 800
290 LoyYT—savk—n(E1h—L)| ik 2,600 11,180] 3,600 1000
[291] R 2,300 9,782] 3,200 900
[202] A 2,000] 8385] 2,800 800
203 LoyT—savk— (Eak—) | Fik 2,600 11,180] 3,600 1000
[204] 7R e 2,300 9,782] 3200 900
295 a1 1,300 4658 1,800 500
296 EREES Fig 1,700] 6211 2400 700
207 | 0 th3st 22 5 — R 1,500] 5,435 2,100 600
[208] (Zt=D7HR—)L) FH1 650] 2,795 900 250
299] 1R ik g50] 3727] 1,200 350




AHREH

(a1 | (81 | [c] | (0]
No|  PEER% O MmEs | S| 2B | SRR | AEE
300 s 750  3.261] 1,100 350
[301] 87 500 1,863 700 200
[302] TEEER 1% 700] 2.484] 1,000 300
[303] R 600 2,174 800 200
[304] 5 600 1,863 800 200
305 HEEEE F1% goo| 2484] 1,100 300
306 7R e 700 2,174] 1,000 300
307 a7 950 4,658] 1,300 350
208 m e Fit £ 4—|E15EE 1% 1,200 6,211 1,700 500
[309] R 1,100 5435 1,500 400
310 8T 24,800 48,159] 31,300 6500
[311] BRIET7 U rkR—IL ik 33,000| 64,212| 41,100 8100
[312] R 29,000] 56,186] 36,300 7300
313] A 2200 6174 3,100 900
314] i e b S EAkiES ik 2900] 8232] 4,100 1200
315) o 1 2 o & 2700 7,203 3,800 1100
316])1y R 1.600] 6,174 2200 600
317 FIEE ik 2,000] 8232 2800 800
318| R 1.800] 7203 2500 700
[319] A 950] 4.484] 1,300 350
[320| 2B Fi% 1,300 5979 1,800 500
[321] ot 1,700 5232 1,500 400
322] R 13,700 19,525 15,200 1500
323 T Fik 18,200] 26,033] 20,000 1800
324] BETRRE &®M__| 20500 29,287 22,500 2000
325 = 50,300 74,845] 55400 5100
o kaliatat: FH1 2,100 4,344] 2,900 800
327 - 1% 2,800] 5,792] 3,900 1100
— £2=E

328 & E 3200 6516] 4,500 1300
[320] 20 6,900 16,652] 9,600 2700
330 il 81,400| 115,773| 86,500 5100
331 1% | 163,100] 231,546] 170,900 7800
332) Skl a1 2% 225,200] 318,376] 233,400 8200
333 % | 206,900] 289,433] 214,800 7900
[334] P 1% - 78R8 | 336,400| 492,036 350,300 13900
335 48 | 389,400 578,866] 405,300] 15900
336 il 380 552 440 60
337 Fik 660 _1.104] 880 220
338 i aai-r%| 1000 1518 1,200 200
339 RE—LBIRE R 9g0[ 1,380 1,100 120
340} Fi%-78F| 1,600 2,347| 1,900 300
[341] 25 1900 2761 2200 300
342) R 620 920 740 120




AHREH

(A1 | [8] | [c1 | (o]
No|  PEER% O MmEs | S| 2B | SRR | AEE
343 Fi% 1,300 1841 1,500 200
344 - Far-4#%| 1900 2531 2,000 100
35| A= B2RE R 1,700 2,301 1,800 100
36| Fi%-7RF| 277001 3911 3,100 400
347 = 3200 4601] 3,600 400
38| 8T 1.600] 2209 1,800 200
349 Kk 2000| 4417 3,500 600
350 U FET-F#%| 42000 6074 4,900 700
[351] AE—ILBIRE 0] 3000| 5522] 4,400 500
352 F#%-k8| 6500 9387 7,500 1000
353 25 7,600 11,044] 8,800 1200
[354] FaT 610 920 740 130
E Fi& 1,300 1,841 1,500 200
356 o A s FRi-F#%| 1800 2531 2,000 200
[357] AE—LBARE 0] 1700] 2.301] 1,800 100
358| Fiz-mm| 2700 3911 3,100 400
359 Y] 3200 4601 3,600 400
360 Fa1 17,500 23,928 19,300 1800
[361] ik 34,900 47,855] 37,000 2100
362| ARl a4 48300] 65801] 51,100 2800
363 R 43,300 59.819] 46,100 2800
[364] w%-7&m| 72,200 101,693 76,700 4500
365 E 83,000[ 119,638] 88,900 5900
366 R 610 920 740 130
367 Fik 1300 1.841] 1,500 200
368 1 FEr-4#%| 1,800 2531 2,000 200
369 ML BIRE R 1,700 2301 1,800 100
[370| F&-mm| 2700 3911 3,100 400
[371] 40 3200 4601 3,600 400
[372] 5 13,600] 16,013] 12,800 ~800
[373] 1k 27200 32026] 25600] -1600
[374] P sr5i- 4% | 37,300 44.036] 35100] 2200
— REEE

375 s 34200 40033] 32,100 -2100
376 1%-7%mE| 57,500] 68056 54,600 2900
[377] 20 67,600 80,066] 64,200 —3400
378 A 610 920 740 130
379) ik 1400] 1841 1,500 100
380 s A Far-4#%| 1900 2531 2,000 100
351] H1=A= % 1800 2301 1,000 100
382) Fi%-7_E| 2900 3911 3,100 200
383 £H 3400 4601 3700 300
[384] R 1,100 1472 1,200 100
385, 1% 2400 2,945 2,400 0




AHREH

(a1 | (81 | [c] | (0]
No|  PEER% O MmEs | S| 2B | SRR | AEE
386 e wai-%| 3400 4049 3,200 ~200
[387] FIRAE 0] 3000 3681] 3,000 0
33 Fi-_M| 5200 6,258] 5,000 -200
389 £H 6,000 7,362] 5,900 ~100
[390| Fa1 1,000 1472 1,200 100
301 Tk 2,300 2945 2,400 100
392 iy 2 i HFRT-F1%| 3200 4049] 3,200 0
[303] FIREE 0] 2000 3681 2900 0
[304] 5L 288 Fi%-7RF| 4900 6,258 5,000 100
395 4R 5900 7,362] 5,900 0
396 8T 1300 1841 1,500 200
307 F ik 2600| 3681] 2900 300
398 g s fFRi-F1%| 3600 5062 4,100 500
[399] FAmHE R 3200 4601 3,600 400
[400| fFi%-78F| 56001 7,823] 6,200 600
[401] = 6,500 9.203] 7,300 800
402 8T 1.800] 2393 1,900 100
403 ik 3600 4786] 3,000 300
404 R fFRil-41%| 5100/ 6,580 5,300 200
405 Binz R 4500 5982 4,800 300
[406| -] 7,700 10,169 8,100 400
407 = 9,000 11,964] 9,600 600
[408| a1 1,400 1841 1,500 100
@ Fi& 2,800 3681] 2,900 100
410 e 1 i FRI-F#%| 3800 5062] 4,100 300
[411] Womz R 3400 4601 3700 300
412 F1%-mm| 5900 7823 6,300 400
[413] 20 6,900 9.203] 7,400 500
[414] AT 650] 1,104 880 230
E Fi& 1,600 2,209 1,800 200
416 PO FRI-F#%| 2100 3037 2,400 300
417 WoHE R 1900 2761 2200 300
[418| w%-mm| 32000 4694 3,800 600
[4719] = 3800 5522 4,400 600
420} AT 650] 1,104 880 230
421 Fik 1600 2.200] 1,800 200
422 PO fFRT-F%| 2100 3037] 2400 300
[423] Bam= &’ T900| 2761] 2200 300
[424] F1%-mm| 3200 4694 3,800 600
425 20 3800 5522 4,400 600
[426] A 1,100 1,657 1,300 200
[427] Fig 2200 3313 2,700 500
42] U Fan-4#| 3100 4555 3,700 600

10
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(A1 | [8] | [c1 | (o]
No|  PEER% O MmEs | S| 2B | SRR | AEE
429 T D 2,900 4,141 3,300 400
430} k-] 4900 7,040 5,600 700
[431] 20 5600/ 8283 6,600 1000
432 FH1 800| 1,104 890 90
433 Fig 1,500] 2,209 1,800 300
434] N R4 | 2100] 3037] 2400 300
435 - AL 2,000 2,761] 2,200 200
436 Fi%-7RR| 33000 4,694 3,800 500
437 £H 3800 5522 4,400 600
438 5 2,900 33865 3,100 200
439 F#% | 5800 7730 6,200 400
440 - wa1-4%| 7900 10629 8,500 600
[421] WNTYILE 0] 7400 9.663] 7,700 300
442) Fi%-78| 12,400] 16,427 13,300 900
43| = 14,400 19,326] 15,400 1000
[424] E1RX45 | 1400 1,160 1,100 ~300
425 ®2K4 | 1,700] 1,408 1,400 ~300
426 E1HEE #3K4 | 1,700] 1,408 1,400 ~300
[447] #=Aax5» | 2100 1905 1,700 ~400
428 E5K4% | 2700 2402] 2,200 —500
429 E1RX45 | 1400] 1,160 1,100 ~300
[450| ®2K4 | 1,700] 1,408 1,400 ~300
451] EoHEE ®3X4% | 1700 1.408] 1,400 300
452 E4aR5 | 2100] 1,905 1,700 —~400
453 E5K4% | 2700 2402] 2,200 —500
[454] E1RS 810 515 650 ~160
455 ®2X4% | 1,100 626 880 220
456 EIRBE E3RS | 1,100 626 880 ~220
457 EARS | 1,400 847 1,100 ~300
458 #5X4% | 1,900 1,068 1,500 —~400
459 T 8900 10672 8500 400
[460| ik 15,800 21,344] 17,100 1300
461 R - 4| 23000] 29348] 23,700 700
462 %M 18,500| 26,680 20,600 2100
463 Fi%-7RR8| 32,400| 45,356| 35,000 2600
[464] : 39,900 53,359] 41,600 1700
465 87 12,100] 16,060] 12,900 800
466 ik 22,000] 32,120] 24,700 2700
467] DBl Fgi-4#%| 31600] 44.165] 33,800 2200
468 R 25500 40,150] 29,600 4100
[469] Fi% 78| 44,900| 68,256| 50,400 5500
[470| = 55,300 80,301] 60,100 4800
471] R 1200] 1883] 1500 300
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) [A] [B] (¢
No. i e X 5 FERS BT % [a E&E]gﬁ *—I-[%]%
EAM | R (C-A)
472
s Tk 2,400 3,767| 3,000 600
e 1018m= fFRT-41%| 3300 5179 4,100 800
— & [E 2,900] 4,708 3,700 800
- fFi%-78F| 5000 8,004 6,500 1500
u =B 6,000 9.416] 7,500 1500
- Ll 780| 1,046 830 50
A Fi& 1,600] 2,093 1,700 100
- 5014 fFET-F1%| 2200 2877 2,300 100
- ! 1,900 2,616 2,100 200
= - 32000 4447] 3,600 400
o =H 3900] 5231 4200 300
= -8 880 1,622 1,200 320
= Fi& 1,800 3,243| 2500 700
= 5024 FRI-F#%| 2500 4460] 3,500 1000
e &R 2200 4054] 3,100 900
et -] 3,700 6,892 5,200 1500
e £H 4400 8109| 6,200 1800
= i 1,400 2,354 1,900 500
o Fi& 2,600 4,708] 3,600 1000
= Hiy—sk—)L  |5034m= FRI-F%| 35000 6474] 4,900 1400
- ! 3100] 5885 4,300 1200
- &#%-7_E| 5300 10,005| 7,400 2100
o £H 6,400 11,770 8,800 2400
o 1] 2,100 3,976 2900 800
= Fi& 4200] 7952] 5,900 1700
= 5048H%E fFRT-F1%| 6,000 10933] 8,300 2300
- ! 4900 9,940] 6,900 2000
= F1%-7_R|  8.600| 16,897 11,700 3100
= +H 10,500] 19,879 14,100 3600
] 1] 5000 7.219] 5,800 800
- Fi& 9,300 14,438 11,400 2100
= 6014 fFRT-F1%| 13400 19,853 15,400 2000
= ! 11,100 18,048| 13,800 2700
- fi%-7k| 19,200 30,682| 22,800 3600
oo £H 23,800 36,096| 27,100 3300
= il 1,400 2,668 2,000 600
— F% 2,900] 5,336 4,100 1200
- 70128 FET-4#%| 4000 7337 5,600 1600
e & E 3,600 6,670] 5,000 1400
- Fi%-7_F| 6,100 11,339 8,400 2300
- £H 7,200 13,340 9,900 2700
B 1] 880] 1,622 1,200 320
[514] Tk 1,800 3,243 2500 700
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AHREH

(a1 | (81 | [c] | (0]
No|  PEER% O MmEs | S| 2B | SRR | AEE
515 PR FET-4#%| 2400 4460 3,400 1000
[516] 7ozmEE 0] 2200 4054] 3,100 900
517] Fi%-78F| 3,700 6,892 5,200 1500
[518| £H 4400] 8,109] 6,200 1800
[519] R 1,700 3,139] 2,400 700
520 Ft | 3400 6278 4800 1400
521 ;e -4 4700 8632 6,600 1900
[522] 703=== 0] 4300 7.847] 6,000 1700
523 &Fi%-78F| 7,300 13,340 10,000 2700
[524] = 8.600] 15694] 11,700 3100
525 —h 650] 3,298 900 250
526 seEs-AA Kk 450 600 150
57 NP, | R 200 0 —200
528] —h 450 600 150
529) . BEH-F K4 300 400 100
530 NP i Fri 100 0 -100
531 T G 940 42.244] 1,300 360
532 1% 1,700] 49,285 1,500 400
533 I R 1,900] 100,957 2,700 800
534} MRE Fi& 2,200] 117,783] 3,100 900
535 A 10,300] 32,922] 13,900 3600
[536| Rt 7 — v 51— |Fr 51— B 10,200] 29,004] 13,700 3500
537 C 4200] 14547] 5,900 1700
538 a1 13,200 68,526 17,300 4100
539 ERHERS FAREY ik 22,900] 91,368] 29,000 6100
540 R 22,900 68526/ 29,000 6100
541 e vartin HE 330] 2,566 370 40
E ERNFHEE BAFRA —5i 10 e 5
543 ey b tE [ B 3,300 3,700 400
E ERNFHRIES BEHS =) 1100 1100 0
545 T e HE 420 385 430 10
B Ao—=24L—L BAFIR =5t 0 0 5
547 . ~ HE 4,200 4,300 100
548 Fo—=2 T =L BEE — 5y 1,400 1,400 0
529 No—=FL—L IhBEH| BEh 4,200 4,300 100
[550| f—=25L—L4 3hAEH| &t | 11,300 11,600 300
[551] f—=25—4 enAES|] BEA | 20,200 20,900 700
552] fo—=2F—Lh 1hAEH| &1 1,400 1,400 0
53] No—=d)—L4 AR &t 3,800 3,800 0
554] No—=2FL—L ehAEH| &% 6,700 6,700 0
555 a1 2,200 25527 3,100 900
56| K5 HEREY Fik 2,800 34,036| 3,900 1100
557 R 2,800 25527] 3,900 1100
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AHREH

(A1 | [8] | [c1 | (o]

No|  PEER% O MmEs | S| 2B | SRR | AEE

558 e BE 320 3,075 390 70
559) RS BRI cEd 110 110 0
560 i BeR 3,200 3,900 700
[561] RES EEE &% 1,100 1,100 0
562] RiES (HACH BER 1,950 2,300 350
[563] RiES 30 A e BER 5,100 6,300 1200
564] RiES on AEH BER | 9,100 11,200 __ 2100
565| o RiEs 1AAEH SED 590 590 0
B R ey &% 1,450 1,450 0
567] B 6/ AcH =54 2,700 2,700 0
568 J—) BAEY SEeER| —H 24,000 33,744] 28,300 4300
[569| T EHEY 2a—R B || —ig 8000 11,248] 10,000 2000
[570| T EHEY sa—R B || —ig 12,000 16,872] 14,600 2600
571 J— EHEY cEeEE| RE 5500 8099 5500 0
572 B 470 422 480 10
&g T EAFIR 2B 25 = — :
574 N Bl 4,700 4,800 100
575 I B “ L 1,500 1,500 0
576 87 460 4385 640 180
[577] EXES 1% 830 5846] 1,200 370
578| R 830] 4385 1,200 370
579 5 460 6,955 640 180
580 EVES E ik 830] 9,273 1,200 370
581 R 830] 6,955 1,200 370
[582] A 460 5027 640 180
583 EINBE Fi% 830[ 6,703 1,200 370
584 R 830[ 5027 1,200 370
585 Fa1 180 2,533 250 70
536 EXES ¥ Fi% 320 3,377 450 130
[587] & 320 2533 450 130
588 A 1,000 5513 1,400 400
589 E1LEME ik 1,700]  7,350] 2,400 700
[590| s 1,700] 5513 2400 700
[501] a1 700] 3,895 980 280
592 F2ZEME Fig 1,100 5,193| 1,500 400
[503] R 1,100 3895 1,500 400
504 FHi 7,000| 45616/ 9,600 2600
595 FAFRES AREY Fi% 9,000 60,821 12,200 3200
59 %R | 11,000 45616] 14700 3700
597 o veriin BEL 330 3,129 370 40
@ ERNFHEE BAAFA 5% 10 0 5
599 oo (o3 BEi 3,300 3,700 400
600) EPFRS EHE CEt | 1100 1,100 0
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AHREH

[A] [B] a&zl%ﬁ [%]

g a B[/t | 4 HEE

= = VAN VAN
No. ﬁﬁnﬁ% }]—E X5 *'JFF“ZD ﬁﬁﬁ*sl' lﬁ1ﬁ (C_A)
601 . BEh 420 509 430 10
- — L—L ! -
@ F—=2%) BARA —5 10 20 5
603 N “ B&i 4,200 4,300 100
604 ho—=2T =4 BEE — 5 1,400 1,400 0
605 ro—=F L —L 1DATER| BEL 4,200 4,300 100
606] ., ., fL—=% L—L 3H A ES 3 &7 11,300 11,600 300
50 kg e = AEM Kl
607 Fo—=25IL—L 6hATER| BEiE 20,200 20,900 700
608) Fo—=2F I —L4 1hAER| &% 1,400 1,400 0
609 fL—=24—L 3 AT £ 3,800 3,800 0
610} fL—=25—L 6 AT £ 6,700 6,700 0
611 — B 15,300| 196,896] 19,900 4600
— J—IL &gt 20 d . :
GH L EREY £ (#R) e 2900 47.255] 4,900 5
613 HEhH 470 737 480 10
019] — 1|l (2 -
o T—IL BAFA (285[E) —5% 150 = 5
615 ; BEi 4,700 4,800 100
| —JL -
616} I B & 1,500 1,500 0
617) L] 460| 11,601 640 180
618 ZHEE Fi& 830| 15468] 1,200 370
619 &R 830 11,601] 1,200 370
620 a1l 14,000] 95,857| 18,300 4300
621 ERNFRZS HREY Fi& 23,300| 127,809] 29,500 6200
622 ! 23,300] 95,857 29,500 6200
623 g g S HLix 330 1,806 370 40
| |
o24] ERNFENE BEAFA —5% 10 0 0
625 e 4t g1 BEl 3,300 3,700 400
62| EPERS EHE ZEt | 1100 1,100 0
627 . HE 420 366 430 10
- L—= L—L | =
62¢] ho—=>7) BANA I—= 5 140 140 0
629 T N BEh 4,200 4,300 100
630 Fo==2 T =4 B#E — 5y 1400 1,400 0
631} F—=25—L 1hAES| Bk 4,200 4,300 100
632] ro—=FIL—L 3DATEE| BEL 11,300 11,600 300
633 fL—=4L—L 60 AT Bk 20,200 20,900 700
634 fo—=2FIL—L 1DAFEH| ZE£B 1,400 1,400 0
635) F—=2F I —L4 3h AR Z&% 3,800 3,800 0
636] fL—=24—L 6 AT £ 6,700 6,700 0
637 8l 3,100] 32,486] 4,300 1200
638 HiEs BAREY Fi& 3,900] 43314| 5,500 1600
639) | 3,900] 32,486 5,500 1600
640 e S &7 320 2,443 390 70
Kaac ®iEs EARA LRISAS
641|, . _ . _EH 110 110 0
— g RR—yt 42—
642 HEE EHE BEi 3,200 3,900 700
643] = cEH | 1100 1,100 0
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AHREH

(A] (B] a&z[%]gg [%]

- 5 BT | & HeE

= 5 UAN VAN
No. ﬁﬁnﬁ% }]—E IZJJ *'JFF“ZD ﬁﬁﬁ*sl' lﬁ1ﬁ (C_A)
644 RiEs 1AAEH BLG 1,950 2,300 350
645 ] HiEs 3ShAEH BER 5,100 6,300 1200
646 HiEi5 6 AEH BEG 9,100 11,200 2100
647 KiEs 1hAEY ZED 590 590 0
648 HiE5 3 AEY ZEE 1,450 1,450 0
649 HiEH: 6N AEH &L 2,700 2,700 0
650] T EHEY SEERD|  —8 19,300] 94,626 24,700 5400
651} J—L BREY 20— OB | — 7,700| 37,850[ 10,500 2800
652} J—)L EEEY sa—x e | —# 11,600| 56,776 15,400 3800
653 7L EkEY SEeHE)| RE 3,000{ 13,102| 3,000 0
654 BLh 470 492 480 10
Kkl —JL 1/ (2 -
= b EAFIA (28R —5t 50 = 5
656 g 2 Bl 4,700 4,800 100
657] 7=/ Euh &Y 1,500 1,500 0
658 Al 550| 6,327 770 220
659 FIREE Fi& 1,000[ 8436 1,400 400
660] & 1,000 6327 1,400 400
661} R 220 3019 310 90
662 FIRBE Fi& 380 4025 530 150
663 & 380 3019 530 150
664] il 12,500| 78,014 16,500 4000
665 ERFEES HAREY Fik 21,800| 104,019] 27,700 5900
666 & 21,800 78,014| 27,700 5900
667 g 4 Bt 330 1,566 370 40
— 1
osc) ERFEKES BAFA 5% 10 0 5
669 g sEiE iR G BEG 3,300 3,700 400
670) SRS B Z&% | 1100 1,100 0
671 . Bl 420 442 430 10
— —= =L ! -
o7 f—=27) BAFA &4 120 120 0
673 e % Bl 4,200 4,300 100
o o—=TL—L E#%H 5% 1,400 1400 0
675 FL—=2F 0V —L IDhAER| Bk 4,200 4,300 100
676 FL—=5 L —L SHhAEH| Bk 11,300 11,600 300
677 bL—=>F ) —4 6 AEH| HEA | 20,200 20,900 700
678] fo—=FL—L InEEH] SEB 1,400 1,400 0
679 h—=FL—L ShAEH] SEH 3,800 3,800 0
680 ho—= 5 L—L 60 AEH] SEH 6,700 6,700 0
681 R 2,200{ 24,580| 3,100 900
682 HiEs HAREY Fik 2,800] 32,773] 3,900 1100
683 & 2,800 24580| 3,900 1100
684 N sEAR 320 1,964 390 70
- Hitis EAFIA Bex
685 | yermikasan &L 110 110 0
[ on | = S ~
686 IR kR HL1E 3,200 3,900 700

16



AHREH

(Al (B] a&z[%]gg [%]

5 s BT | & Hex

= = AN | X 4
No. ﬁﬁnﬁ% }]—E IZJJ *]m[ﬂ ﬁﬁﬁ*sl' lﬁ1ﬁ (C_A)
687 T cEH | 1100 1,100 0
688 ] RiEs 1 hAEH BER 1,950 2,300 350
689 HiEi5 3hAEH B 5,100 6,300 1200
690 HiE5 6 AEH BER 9,100 11,200 2100
691 Ki&5 1hAEY ZEE 590 590 0
692 Ki&EH: 3NAEH &L 1,450 1,450 0
693 HiEs 6 AEH ) 2,700 2,700 0
694} T EFEY SEERD|  — 16,900( 164,539 21,800 4900
695 J—L EREY so—RCEE) | — 7,200 70,517[ 9,900 2700
696 J—L EREY 40— OB | —8 9,700 94,022 18,100 3400
697 J—o) BAEY SECEEM| RE 5400] 39489| 5400 0
698 BLh 470 404 480 10
[©2°) - | (21 -
o9 T—Iv B AR (285RH) —5% 50 = 5
700 . Bty 4,700 4,800 100
] —)L -
701] 7= EEE =) 1,500 1,500 0
702] R 460| 4693 640 180
703] FIREE Fik 830] 6,258 1,200 370
704] & 830[ 4,693] 1,200 370
705) R 460| 6,022 640 180
706 F2REE Fi& 830] 8029| 1,200 370
707 & 830[ 6,022] 1,200 370
708 —Hg 16,000 107,247 20,700 4700
— T—L EAEY) £ (28 , , -
709 v ERRS SmORR e | s400] a7.179] 5400 0
710 Bl 470 519 480 10
— — |
711] 7= BAFI &Y 150 150 0
712 , BEi 4,700 4,800 100
— —JL -
713) 7= EEH =) 1,500 1,500 0
714 . Bt 310 284 320 10
— = N ! -
75 h—=2%) BANA =51 o0 700 5
716 e % Bty 3,100 3,200 100
717 o= T b= b B == T o0 1,000 0
JAL] P ho—=FL—L 1A B 3,100 3,200 100
— = EFRKT—IL o
719] BETRAT M=o =1 shARm| BEh | 8400 8,600 200
720 bL—=2F ) —L 6 AEH| BEG | 14800 15,600 800
721) fo—=FL—L InEEH] SEB 1,000 1,000 0
722] —=29 L —L4 3SHAEH|] D 2,700 2,700 0
723) f—=29 L —L 6 AEH|] SED 4,800 4,800 0
724) A 460| 3,221 640 180
725 RHEE Fi& 830 4294] 1,200 370
726 & 830] 3221| 1,200 370
727 I 1,300] 15449 1,800 500
728 ZEHNE Fi& 2,100[ 20,598| 2,900 800
729 R 2,100] 15449] 2,900 800
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AHREH

E = VAN VAN BT —9,~ A
No. ﬁﬁnﬁ% }]—E X5 FIRAXS ﬁﬁﬁ*sl' =t (C-A)
730} 4B 2,500 72,098] 3,500 1000
731 M55 HEEY Fi& 3,100] 96,130] 4,300 1200
732 & 3,100] 72,098] 4,300 1200
733 - BEh 310 966 430 120
| — |
4] M35 BARA —vi ™ 0 5
735 o s s HLi 3,100 4,300 1200
736|705 15 mss mRs CEH [ 1,000 1,000 0
737 M55 1hAEH B 1,900 2,600 700
738 M55 hAEH B 5,000 7,000 2000
739 M55 6MhAEH B 8,900 12,400 3500
740 M55 1MhAEH & 570 570 0
741 M55 3hAEH &L 1,400 1,400 0
742 M55 6mn A EH & 2,600 2,600 0
743, g 2,500 88347) 3,500 1000
744 #5%5 HAEY Fi& 3,100| 117,796] 4,300 1200
745 & 3,100| 88347| 4,300 1200
746 o4 BLi 310] 1,364 430 120
Eihd ; | o
747) #515 @R &L 100 100 0
748 e o im Ll 3,100 4,300 1200
749|515 e cEH | 1000 1,000 0
[ 750] 5% INAEH B 1,900 2,600 700
751 515 3hAEH B 5,000 7,000 2000
752 F515 eANAEH Bl 8,900 12,400 3500
753 E5% INAEH & 570 570 0
754] #5515 hAEH &£ 1,400 1,400 0
755 ¥515 6h AEY ZEE 2,600 2,600 0
756 MER-AL-EA R TE | 18R 1,200 7.619[ 1,700 500
757 = i — % 620] 25,037 870 250
— = 5
758 NFER D 430] 14132] 430 0
759| B Ik 15 TR —#R 1,200  7,567] 1,700 500
— jid | 5 - ' ' '
760 NI BB Vi 430] 7567|430 0
761 REGREEVEETS DE - 767 430 430
762 FREASRYR 1@ 1R 4,000 3927 3,600 -400
763 —i8 FNFHEE\EYYH—5 1@ | 15 890 23785| 1,200 310
764 SETZEMES 2@ | 1RHE 3,000[ 6,208] 4,200 1200
765| 7V LG =E5T%EMEHE 1| 1R 1,000 2,069 1,400 400
766 FA LGRS §Y 1B fe 2,600 6,689 3,600 1000
767 FIIFEEEEHEE BY1) 186 2,600] 14,034] 3,600 1000
768 | Bk £ 3515 FIFEESENERDS 80| 1K 850 4518] 1,200 350
769 BEh 200 134 180 -20
Ehd ?E E-2-3 =] |
— B biits EAFMA —5% = = 5
7| 18 i 460| 25493 640 180
772 RS FREASR IR 1 E 1F¢E 800 5588| 1,100 300
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AHREH

(a1 | (81 | [c] | (0]

No|  FEERA HEARE 53 MmEs | S| 2B | SRR | AEE
773 FRFHE TR ILIS—H 7\y}~'|j')|,i% gt}] 1H#ﬁ5ﬁ 1,200 3,515 1,700 500
774 87 14.600] 28,116 19,000 4400
7751 2mbB—IL Fi& 22,500 32,801| 24,900 2400
776 R 25000[ 37.487] 28,100 3100
777 5 5600 10,836] 7,800 2200
78| AR—IL Fik 8,600] 12.642] 10,100 1500
779 7R e 9,600 14,448 11,400 1800
730 a7 3600 7,159] 5,000 1400
781\ 1549759 |BH—IL Fi& 5700 8,352| 6,700 1000
782 R 6,300] 9,545] 7,600 1300
783 8T 2700 5272 3,800 1100
734] Cch—IL 1% 4200 6,150 5,000 800
785 R 4600 7020 5700 1100
736 A 1,300 4426 1,800 500
737 REE F1% 2,300] 5163] 3,200 900
738 &S 2500 5901] 3,500 1000
789 U] 1,200 4564| 1,700 500
[790| E—EILLBE ik 1.600] 6,085 2200 600
[791] R 1.400]  5324] 2,000 600
[792] A 400 2,635 500 100
793 EoELEEII ST HHER| ik 600] 3,513 800 200
[794] &S 500 3,074 700 200
795 101 432,200 479,559] 432,200 0
796 102 | 233,100] 258,720 233,100 0
797 103 | 421,300| 467,481] 421,300 0
798| 201 185,500| 205,981] 185,500 0
799 202 | 255,000 283,103| 255,000 0
[800| 203 | 255,000 283,103] 255,000 0
[801] 204 | 185,500 205,981] 185,500 0
[802| 205 | 147,000] 163,159] 147,000 0
[803] 301 173,100] 192,249 173,100 0
[804] 302 | 238,000] 264,230] 238,000 0
505 S 303 | 238,000 264,230] 238,000 0
806 304 | 173,100[ 192,249 173,100 0
807 305 | 137,100| 152,281] 137,100 0
[808| 401 160,800| 178,517] 160,800 0
B 403 [ 221,100] 245,356 221,100 0
810 404 | 160,800] 178,517 160,800 0
[811] 405 | 127,400 141,404 127,400 0
12| 501 148,400| 164,785 148,400 0
13| 502 | 204,000| 226,483| 204,000 0
14| 503 | 204,000| 226,483] 204,000 0
Ba 504 | 148,400| 164,785] 148,400 0
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AHREH

[AI]_ LB] [c] ”(D]

No| R PR 5> MmEs | S| 2B | SRR | AEE
816} 505 117,600] 130,527| 117,600 0
817) 3—A | 160,300] 177,991| 160,300 0
818 e s - 5—B 94,900| 105,377| 94,900 0
E BoEL BRERE 5—C 60,900 67,660| 60,900 0
820} 5—D 62,200 69,093| 62,200 0
821} 101 336,400 373,326 336,400 0
822} 102 336,400 373,326 336,400 0
23] 201 189,200 209,996| 189,200 0
824] 202 189,200 209,996| 189,200 0
825 " 203 189,200 209,996| 189,200 0
826 204 189,200] 209,996| 189,200 0
827] 301 176,500] 195,996| 176,500 0
28] 302 176,500| 195,996| 176,500 0
829 303 176,500| 195,996] 176,500 0
830 304 176,500| 195,996| 176,500 0
831) L] 1,700 1,725| 1,700 0
832 F1HEE Fik 3,100[ 2,300 3,100 0
833) i) 3200 2,013 3,200 0
834) &7 1,600 1,705 1,600 0
835 E2MEE Fi& 3000 2273] 3,000 0
836 ! 3200] 1,989 3200 0
837 £ 750 669 750 0
[838| % E ML £ 54— HEIFHER Fik 1,400 893| 1,400 0
839 & E 1,500 781 1,500 0
840 1 850 752 850 0
[841] FAHER Fi& 1,600 1,002 1,600 0
842) & 1,700)  877| 1,700 0
843 REBE 1 B 200 101 200 0
[844] RE8—+7vT-A74R 1R im 2500] 2766] 2500 0
845 L17—KAT4R 18 150 10,000 10,995 10,000 0
846 HEEREINIRE GEHE) 1] 150 615 150 0
847 - Ll 390 3678 390 0
62| . . BRE Fig 510] 4,904 510 0
— =S BT ASNHUVEE —

849 s e 390| 4114 390 0
850] Fi& 510 5,486 510 0
851 B 1[0 100 473 100 0
852 HREEERE EP=E) 1] 150] 1,122 150 0
853 n T Ll 700| 11,447 700 0
854 FEE Kk 930| 15.262] 930 0
855[ . - s 551 e 4B 650 10,678 650 0
856, SHANBLE =2 Fik g70| 14238 870 0
857 — 1] 270 4,372 270 0
85 ZEHZ Fik 360| 5829 360 0
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AHREH

[A] [B] a&z{%]g; (%]

- = BT 4 [E HEE

= = PAN | X/\
No. ﬁﬁnﬁ% Hﬁ IZJJ *]m[ﬂ ﬁﬁﬁ*sl' ﬁ1ﬁ (C_A)
859 BE 1[a] 100 722 100 0
860 — D] 310 3,959 310 0
861 X Fi% 420 5,278 420 0
862 - 5D 300[ 3,959 300 0
o THE aii]
863| & S s EE 1% 400] 5,278 400 0
864 Hij 180 2,130 180 0
— J)L—Ls
865 FHE Fik 240 2,840 240 0
866 BE 1[8] 100 747 100 0
867 Haem B EE GEF=E) 1] 150 493 150 0
868 — [ 630] 5,054 630 0
— T 1
869 AR THE i3 840] 6739 840 0
870 . = D) 730 5,841 730 0
—— A \ T 2
o] HETSNHLE |BEXEIEE % a70| 7.788 o 5
[872] aw Al 180] 1,402 180 0
873 = 1% 240| 1869] 240 0
874 BE 1[A] 100 351 100 0
875 HEEE B E GEENE) 1] 150 694 150 0
876 = i 620 6,842 620 0
—— 1
877 Xish= Fig 820l 9,123 820 0
878 . a1l 620 7218 620 0
48, 5. \ =2
879 BASNBME [XLRE 1% 820] 9,624 820 0
880 — 48] 340 3,805 340 0
— T
881] tr= Fik 460 5,074 460 0
882 PES 1@ 100 814 100 0
883 8 240| 2,486 340 100
884 SHRE-JTI—TEHE Fik 240 2,900 340 100
885 & 360 3728 500 140
886} L] 1,300 6,036 1,800 500
887 [AtE B 25— (% B BIR—)L Fik 1,400 7,042 2,000 600
838 =M 1,400] 9,054 2,000 600
889 a1l 480 5338 670 190
[890] M= Fik 480 6,228 670 190
891 A 730 8,007 1,000 270
892] o] 1,700] 18,902 2,400 700
893 R R— Fi& 2,000 22053] 2,800 800
894 R =M 2,000] 25203] 2,800 800
l—a T a! X‘t" —_
895 RIRELS 8l 910] 5,751 1,300 390
896} REYE=E & 1,100] 6,709 1,500 400
897 i) 1,100 7,668 1,500 400
898 — % 260 1,377 360 100
899 LEPN 65k LA E 130 180 50
[900] IZNREE A 130 130 0
[901] — & 210 290 80
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AHREH

(a1 | (81 | [c] | (0]

No| R PR 5> MmEs | S| 2B | SRR | AEE

902 Gif%S 657% Ll £ 80 110 30
[903] INREE A 80 80 0
[904] — i3 1,300 1,800 500
[905| JSRR—h 658k LA b 660 900 240
[906| INchEg A 660 660 0
907 — 1,300 1,800 500
908 . 1o EIEE3 65/ LL £ 660 900 240
oo T P IAR INREEE | 660 660 0
910 . BH 1400 3247 2000 600
o1 EMRTE BRE 9.820| 22.727] 13.300] 3480
912] o A 5E 1400] 16,935] 2,000 600
[913] mEmE BRE 10,700] 118,549 14,300 3600
[914] 27 1,400 2486 2,000 600
[915| R—IL BEH 1400 2486 2,000 600
916 B 9,820 14,918 11,600 1780
[917] =Y 1400 6581 2000 600
[o18| BoRE = 1.400] 6581 2,000 600
919 B ] 9,820 39487 13,300 3480
920 s = FHi 1,300 9.874] 1,800 500
E RIS HNE Fi& 1,400 13,166| 2,000 600
922 N ,H FHi 790]  6,199] 1,100 310
923] ek ik 910] 8265 1,300 390
24| UBAIIVTSY |, - S0 790 6,088] 1,100 310
E m3$ HN= Fi& 900|] 8,118 1,300 400
926 — 1 2,800] 22,140] 3,900 1100
[927] ZENESE ik 3.200] 29519] 4,500 1300
928 SxJ—-Ovh—% 18] 100[ 4,951 140 40
929 R RNE R—K15-305 18] 240 357 290 50
930 R 1200 2893 1,700 500
931] BIRE Fik 1400 3375] 2,000 600
932 R 1,700 3858 2400 700
| KR AE i g7o[ 1.627] 1,200 330
[934] FoRE ik 1,700 1,899 1,500 400
935 & 1200 2,170 1,700 500
936 87 4600 9,747 6,400 1800
[937] =1 Fi& 6,100 12,997| 8,400 2300
938 R 6,100 12,997] 8,400 2300
939 5 1900] 3858 2700 800
920 HE2 1% 2,400 5,145 3,400 1000
[941] R 2400 5,145 3,400 1000
942 A 1,400 2,775 2,000 600
943 HES F% 1,800] 3,700 2,500 700
oa] . & 1800 3700] 2,500 700
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(a1 | (81 | [c] | (0]
No| R PR 5> MmEs | S| 2B | SRR | AEE
945 T R 6,500 13,606 9,000 2500
926 HR—IL ik g.400] 18,141] 11,400 3000
[947] R 8,400 18,141] 11,400 3000
948 FH1 950 1,895] 1,300 350
949 £4E1 Fig 1200  2527] 1,700 500
[950| R ] 1200 2527 1,700 500
951 a1 950 1,963 1,300 350
952 &E4ax2 Fig 1200 2617] 1,700 500
953 R 1200 2617 1,700 500
954 _ e Bt 550 922 730 180
B3 T8 LBEH BARA i = =5 5
% gy |[PPRRIOARER ERHE ?:;‘* ?gg ‘:gg ”g
953 1 1,900| 643,710] 2,700 800
959 HE=E 1% 1,900| 643,710 2,700 800
960 R 3,600] 858,279] 5,000 1400
61 - BEL sao| 1,742 900 260
962 T _&EL 220 220 0
— i+ EHIEE 7

963 BEE EHF BB 410 590 180
964 &t 150 150 0
965 Hij 2,200 7,160 3,100 900
96| L3 it 2400 8353|3400 1000
967 g = & E 2,400 9,546| 3,400 1000
ﬁgﬁ PL=REmAS B 1,700[ 10,176] 2,400 700
969 =HERE=E Fi& 2,000] 11872 2,800 800
[970| R 2,000] 13568 2,800 800
971 Ll 750| 1,657| 1,100 350
972} EIEEBEE K% goo| 1933 1,200 310
[973] R 1,000] 2,209 1,400 400
[974] A 1,000 2071 1,400 400
975 EIERBEE 1% 1,100 2416] 1,500 400
976 R 1,300 2761] 1,800 500
[977] FaT 1000 6,172 1,400 400
[978| LYY T—avk—ILdt 1k 1,200 7,200 1,700 500
[979] R 1200] 8229 1,700 500
980} A 1,000 6,172 1,400 400
981 LYYz —2avih—ILE 1% 1,200 7,200 1,700 500
982 &S 1200 8229 1,700 500
983 a1 460 2817 640 180
084] SR Fi% 540 3,286 760 220
985 & 550 3,756 770 220
986 FH1 550] 3,397 770 220
987} E1¥TE ik 650 3963 910 260
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(A1 | [8] | [c] | I[D]
No|  seRs RS AmRs | SO, | SRR HEE
T A 660] 4,529 920 260
[ogo|HEEFE LS = 560] 3479] 780 220
990} EoREE 1% 660] 4,059 920 260
[901] & 670 4,639 940 270
[992] 87 480 2,941 670 190
993 E3BEE F1% 570 3,431 800 230
[994] wms 580] 3,921 810 230
995 a7 220 1,367 310 90
996 Ix=E 1% 260] 1,595 360 100
997 R 280 1,823 390 110
[998| 8T 480 2,941 670 190
999 R ik 570 3,431 800 230
1000 & 580 3,921 810 230
1001 81 480] 2,941 670 190
1007 = Tk 570 3,431 800 230
1003 ) 580 3,921 810 230
[1004] R goo| 5426] 1,100 300
[100s 2 HME ik 940| 6331 1,300 360
1006 & 960 7,235 1,300 340
1007 4R 1,600| 15,482 2,200 600
1005 LoYT—3vk—IL ik 1,900] 18,063 2,700 800
1009 D 1,900 20643] 2,700 800
[1010] R 370 3,635 520 150
[1011] ERE--3- Fik 450 4,241 630 180
1012 RS 460| 4,847 640 180
1013 8 370| 3,635 520 150
[1014] Epd-3- F ik 450] 4,241 630 180
1015 wE 460| 4,847 640 180
[1016] R 330 3,298 460 130
[1017] REE Fi 400 3,848 560 160
1015 & 410 4,398 570 160
1019 ] e 480| 4,645 670 190
1020 = Fik 560 5419 780 220
1021 w 570| 6,193 800 230
1022 R 760 7,337| 1,100 340
(102 | KB ES B+ 4— | B 1 EH = ik 880| 8560] 1,200 320
1024 ] R 890 9,783] 1,200 310
1025 8 370| 3,635 520 150
1026 E2HER Fi% 450] 4,241 630 180
1027 & 460| 4,847 640 180
1026 i 630] 5,991 880 250
1029 EETE Fik 730 6.989] 1,000 270
1030 ) 740] 7,988 1,000 260
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[A] [B] [c] [D]

i . B | & 1 4
No| MR PR 5 MmEs | S| 2B | SRR | AEE
1031 1] 170 6,193 240 70
1032 f=E Fik 210 7,225 290 80
1033 boodii| 220 8,257 310 90
1034 a1l 300/ 3,298 420 120
1035 LR T 360 3,848 500 140
1036 A 370 4,398 520 150
1037 4R 930 9,962 1,300 370
108 ZEHNE 1% 1,100 11623 1500 400
1039 ] 1,120 13283 1,600 480
1040 R n BE 400] 2,148 560 160
o FroTHE 5% 200 200 0
1042 . N HEl 2,000 11,837 2,800 800
v A RV —£% 1,000 1,000 0
1024 e e BeEt 2500 11,351 3,500 1000
[T0ss | HIME AR —E1 1,250 1,250 0
04| - RS 270] 1,611 380 110
1047 = %S 410 1611 570 160
1048 " B E 170 225 180 10
1049 HeBE R 270 1,542 380 110
1050 . BRE 120 2,442 170 50
E— \
] P 77T NIA P 120 _2442] 200 60
oz | T CABER R R 120 1746 170 50
1053 * ) 140 1,746 200 60
1054 =8t 210 1,722 290 80
s | ‘-é' B = ’
o FAE5 7R R 260 1,722 360 100
1056 sy R 60 1,234 80 20
o = R 130] 1234] 180 50
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